1.3#19: Show u, (x, y) = cos x coshy  $U_{2}(X,y) = ln(X+y^{2})$ are sol'ns to PDE: úxx + úyy = () Recall  $u_{\chi\chi} = \frac{\partial}{\partial \chi} \frac{\partial}{\partial \chi} (u)$  en Treat  $\frac{\partial}{\partial y} \frac{\partial}{\partial x} \frac{\partial$ For  $u_2$   $\frac{2^2}{2\chi^2} \left( ln(\chi^2 + g^2) \right) = \frac{1}{2\chi} \left( \frac{1}{\chi^2 + g^2} - \frac{2\chi^2}{\chi^2 + g^2} \right)$ 

 $\frac{\partial}{\partial x} \frac{\partial}{\partial x} \left( h_{x} \left( x^{2} + g^{2} \right) \right) = \frac{\partial}{\partial x} \left( x^{2} + g^{2} \right) = \frac{\partial}{\partial$  $=\frac{2(x^{2}+y^{2})-4x^{2}}{(x^{2}+y^{2})^{2}}=\frac{2y^{2}-2x^{2}}{(x^{2}+y^{2})^{2}}$ 

 $\mathcal{U}_{XX} = \frac{2y^2 - 2\chi^2}{(\chi^2 + y^2)^2}$  $4yy = \frac{2}{3}\frac{d}{3}\left[\ln(x^{2}+y^{2})\right] = \frac{2x^{2}-2y^{2}}{(x^{2}+y^{2})^{2}}$ Verry that  $u_{XX} + u_{yy} = 0$  when  $u = h_1(x^2y^2)$ To show something is a soln, plug in (roto LHS)  $2y'-2x^2 + 2x^2-2y^2 - 2y-2x^2-2y^2 - ()$  $\frac{-1}{(x^{2}+y^{2})^{2}} + \frac{-1}{(x^{2}+y^{2})^{2}} - \frac{-1}{(x^{2}+y^{2})^{2}} = \frac{-1}{(x^{2}+y^{2})$ 

For  $U_1$ , also plug in  $\frac{1}{2}$  check answer  $\sum M_{XX} + 4gg = 0$ Find Myy & Myy Find  $u_{yy}$ ,  $u_{yy}$   $u_{1}(x,y) = (\cos x)(\cos hy)$   $\frac{\partial}{\partial x} \frac{\partial}{\partial x}(u_{1}(x,y)) = (\cos hy)(\frac{\partial^{2}}{\partial x^{2}}\cos x) = etc$   $\frac{\partial}{\partial x} \frac{\partial}{\partial x}((\cos x)(\cos hy)) = \cos hy(\frac{\partial^{2}}{\partial x^{2}}(\cos hy))$   $\frac{\partial^{2}}{\partial y^{2}}((\cos x)(\cos hy)) = \cos x(\frac{\partial^{2}}{\partial y^{2}}(\cos hy))$   $\frac{\partial^{2}}{\partial y^{2}}(\cos hy) = \cos hy(\cos hy)$   $\frac{\partial^{2}}{\partial y^{2}}(\cos hy) = \cos hy(\cos hy)$   $\frac{\partial^{2}}{\partial y^{2}}(\cos hy)$ 

## Generic question regarding constants:

f(x) + C } same thing (if sloppy) f(x) - C } C can swallow negative sign Bolh and acceptable agswers Crecall can use c to mean move than I thing

 $1.2 \quad 1 \alpha \quad \frac{dy}{dt} = -y + 5$ 410)= 76 

Solve dy = - y+ S using separate M = - y+ S using separate



